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1 W rite down the next term in each sequence.

1 (a)(i) 5 8 11 14 .......

..................................…………...….…….....…………………………………………….…..

(1 mark)

1 (a)(ii) 6 4 2 0 .......

..................................…………...….…….....…………………………………………….…..

(1 mark)

1 (a)(iii) 2 4 8 16 .......

..................................…………...….…….....…………………………………………….…..

(1 mark)

1 (b) The numbers in this sequence increase by the same amount each time.

11 ....... ....... 35

What are the missing numbers?

..................................…………...….…….....………………………………………………

Answer………………and…………………….

(2 marks)
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2 The nth term of a sequence is 100 – 3n.

2 (a) W ork out the first three terms.

..................................…………...….…….....…………………………………………….…..

..................................…………...….…….....…………………………………………….…..

..................................…………...….…….....…………………………………………….…..

Answer ......................,.......................,..................

(2 marks)

2 (b) W ork out the first term of the sequence that is negative.

..................................…………...….…….....…………………………………………….…..

..................................…………...….…….....…………………………………………….…..

Answer ..........................................................

(2 marks)
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3 (a) Here are the f irst three terms of a sequence.

20 12 8 ....

The rule for working out the next term in the sequence is

Work out the first term that is not a whole number.

..................................…………...….…….....…………………………………………….…..

..................................…………...….…….....…………………………………………….…..

Answer ..................................…………...….…….....………

(2 marks)

3 (b) This sequence uses the same rule.

The third term of this sequence is 9.

…. …. 9 ….

Work out the first term.

..................................…………...….…….....…………………………………………….…..

..................................…………...….…….....…………………………………………….…..

..................................…………...….…….....…………………………………………….…..

..................................…………...….…….....…………………………………………….…..

Answer ..................................…………...….…….....……… (3 marks)

Add 4 to the previous term and then divide by 2

Add 4 to the previous term and then divide by 2
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4 (a) Write down the next term of each sequence. 

4 (a) (i) 3          8         13          18          ........ 

   ..................................…………...….…….....…………………………………………….…..

(1 mark)

4 (a) (ii) 5.1          5.3          5.5         5.7          ........ 

..................................…………...….…….....…………………………………………….…..

(1 mark)

4 (a) (iii) 2          –1 –4 –7          ........ 

..................................…………...….…….....…………………………………………….…..

(1 mark)

4 (b) Here is a different sequence. 
The third term is 20 and the fourth term is 36. 

         ……     ……     20     36     …… 

The term to term rule for this sequence is 

Work out the first term of the sequence. 

..................................…………...….…….....…………………………………………….…..

..................................…………...….…….....…………………………………………….…..

..................................…………...….…….....…………………………………………….…..

Answer  .........................................................................  (2 marks)

Double and subtract four 
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5 (a)  The numbers in this sequence decrease by the same amount each time.

74 …… 58 50 42 ……

What are the two missing numbers?

............................................................................................................................................

Answer ............................... and ..............................      (2 marks)

5 (b)  The numbers in this different sequence decrease by the same amount each time.

26 …… …… …… 6

What are the three missing numbers?

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

Answer ................... ,    ................... ,    .................... (2 marks)
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6 (a)  Here are the first two terms of  a sequence.

5 4 …… …… ……

The rule for finding the next term in the sequence is

Work out the first negative term of  the sequence. 

............................................................................................................................................

............................................................................................................................................

Answer ...................................................................... (2 marks)

6 (b)  Here are the first three terms of  another sequence.

1 4 7 …… …… ……

Which of  the following is the nth term for this sequence?
Circle the correct answer.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

n + 3     3n + 1     3n – 2     3n + 2
(1 mark)

Multiply the previous term by 2 and subtract 6
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7 (a)  A sequence starts

49 46 43 40

7 (a) (i)    Write down the next two terms.
Answer ............................. and ............................. ....       (2 marks)

7 (a) (ii)   What is the rule for continuing the sequence?
Answer ......................................................................  (1 mark)

7 (b)  Another sequence starts

57 50 43 36

This sequence is continued.

What is the first negative number in this sequence?
.......................................................................................................................................
........................................................................................................................................

Answer ......................................................................  (1 mark)

7 (c)  The first sequence is also continued.
The two sequences have the number 43 in common.

What is the next number that the two sequences have in common?
........................................................................................................................................
........................................................................................................................................

Answer ......................................................................  (2 marks)
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8 (a)  Here are the first two terms of a sequence.

5  4  ……  …… 

The rule for finding the next term in the 

sequence is Multiply the previous term 

by 2 and subtract 6

Work out the first negative term of the sequence.
.........................................................................................................................................
.........................................................................................................................................

Answer ......................................................................       (2 marks)

8 (b)  Here are the first three terms of another sequence.

1  4 7  ……  …… 

Which of the following is the nth term  for this 

sequence?
Circle the correct answer.
.........................................................................................................................................
.........................................................................................................................................
.........................................................................................................................................

n + 3 3n + 1  3n – 2 3n + 2 
 (1 mark)
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*9

The second term is 12.
The third term is 52.

…. 12 52 ….

Work out the first term of  the sequence.

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

Answer ......................................................................

9

(4 marks) 

The rule for finding the next term in a sequence is 
Subtract x and then multiply by 4
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 10 The nth term of  a sequence is  n2 + 50

 10 (a) Work out the first three terms of  the sequence.

............................................................................................................................................

............................................................................................................................................

Answer 1st term .....................  2nd term .....................  3rd term .....................  (2 marks)

 10 (b) How many terms in the sequence are less than 100?

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

Answer ......................................................................            (2 marks)
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*11 The first three terms of  a sequence are

……..

The term-to-term rule of the sequence is

Show that         z = 4(x – 3 )

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................

............................................................................................................................................
(4 marks)

Multiply by 2 and subtract 4
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